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These histograms show the distribution of the data for each assay tested.
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X-axis: Log transformed copies per 100mL (if data on water volume is provided)
after adding 1 to show zeros.
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Jonah Jonah
Aninternal  Sample ID Aninternal  Sample ID
identification provided by Name of identification provided by Name of
number. client. the assay. number. client. the assay.

m SamplelD | Bullfrog01

VQOOO1 0010 27648 T"fo’;‘i’:;t;rff VQO0O1  100.0 100.0 Shows the
filtered 100mL percent of all
JVQ0001 0011 0 of water (if JvQooo1 0011 0 replicates
VQo001 0012 0 — dataprovided) /VQo001 0012 0 — thatwere
for each assay Zbi)vet.the
etection
JvQo001 0013 126 aver‘BEEd JvQ0o001 0013 333 limit for each
across internal
JVQ0001 0014 5279 ] replicates. JVQ0001 0014 100.0 ] assay.
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X-axis: Log10 of the
0001 JvQ1234 BigheadCarp01 0001 number of copies in
the standard.

0001 JvVQ1234 Silver Carp01 0002 2345 3456 1234 An internal identification number,

JVQO055" ——————— which can be matched to samples.
“Assay = Bullfrog0l” The name of the assay used in
the calibration curve.
0001 JVQ4567 NorthernPike01 0004 0 95 0 “r2 = 0.999” ———PThe goodness of fit for the linear relationship.
How close to a doubling of product with
each PCR cycle. 100% efficiency is the ideal.

“RunlID
0001 JvVQ1234 NorthernPikeO1 0003 0 0 0

“efficiency = 95.3%"
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